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1.Click the exhibit.

."'.FEF Blu= YRF Blue
Provider Core Network

ArE

g 1.1.1.3

*A:PE=1l§ comfigurs service vprm 20 custoner 101 create
*A-PE-lrconfigrservicesvprng descripciom "VPEN Blue®
*h:PE-lrconfigrsarvice=prnd route-distinguisher E5100: 101
*A:PE-lrconfigrsarvicevprnd vr f-target Carget:65100:101
*h:PE-l=configsservicewprnd aato—bind Lldp

*h:PR-1>confi grsarvrice>yprnd router-id 1.1.1.1
*h:PE-lrconfigrservicevprnf inter face to-CE-1l craata
*APE-1rconfigrservicervprn=iff address 10.1.6.1/27
*h:DPE=]rconfigesarmricasvprn=1£ff =ap 1/1/2 ersata
*A:PE-lrconficgrsarvicevprn>ifi exit
*h:PE-lroconfig=servicervprnd

What is wrong with the VPRN configuration applied on this Alcatel-Lucent 7750 SR?

A. The VPRN ID must match the value used in the vrf-target command.

B. The VPRN ID must match the value used in the route-distinguisher command.

C. The router-id command should not be used in this context.

D. The "no shutdown" command must be configured for the VPRN to be operationally UP.
Answer: D

2.VPN-IPv4 addressing is made unique by defining an address structure consisting of:
A. A 64-bit Route Target followed by a 32-bit IPv4 address.

B. A 64-bit Route Distinguisher followed by a 32-bit IPv4 address.

C. A 32-bit Route Distinguisher followed by a 32-bit IPv4 address.

D. A 32-bit Route Target followed by a 32-bit IPv4 address.

Answer: B

3.Click the exhibit.
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.‘JIF Blue VRF Blue= .
Provider Core Metwork

ArEa pa PE2

1313 1.1.1.5

P-1# configure router ldp

P=1r»configrrouter>ldp# interface-parameters
P-1rconfigrrouter>ldprif-params# interface “P-1 to PE-17
P-1>configrrouter>ldprif-params-itH# exit
P-irconfigrrouter>ldp>if-param=s# interface “P-1 to P-27
P-1>configrrouter>ldprif-params-if# exit
P-lxconfigrrouter>ldprif-params# interface “P-1 to P-37
P-1l>configrrouter>ldprif-params-iff# exit

An Alcatel-Lucent 7750 SR is to be configured as a core router that supports VPRNs using LDP as the
transport protocol.

Which of the following best describes this configuration?

A. This configuration is correct and complete.

B. This configuration is correct, but the interfaces must also be configured in the "configure router mpls"
context.

C. There is no configuration required for LDP in the core network.

D. This configuration is correct, but Targeted-LDP is also required.

Answer: A

4 .Click the exhibit.

3/10



The safer , easier way to help you pass any IT exams.

PE2 (10.10.10.2)

172.40.0.0/16
Q PE3 (10.10.10.3)
CE2 =
AS 64497 " J AS 64496
172.40.0.0/16
172.40.0.016 0 CE3
_—
CE1 PEI (10.10.10.1)

PE1# configure service yprn 10
PEi>config>servicerynen# route-distinguisher 64495:20

PE2# configure service yprn 10
PE2>configrservicervnrn# route-distinguisher 64495:20

FE3# configure service yvprn 10
PE3>ponfigrservices>vpnrn# route-distinguisher £4495:10
PE:i}mﬂy}serviue}w eomm 2
PE3>configrservicervprn# bgp mulcipach 2
PEI>ponfigrservice>vorn# bgp eibgp-loadbalance

Based on the displayed configuration, which routes does PE3 place in the VPRN 10 routing table?
A. The routes learned from CE3 and PEL1.

B. The route learned from CES3 only.

C. The routes learned from PE1 and PE2.

D. The routes learned from CE3 and PE2.

Answer: A

5.Click the exhibit.
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.VHF Blue VRF Blue .
Provider Core Network

Are P-1 P-3 PE2 A

s 120 e e L]

1.PE-1f configure service
2.PE-1zconfigrservice# sdp 42 mpls create
3.PE-1sconfig-services>sdpsd far-end 1.1.1.5
4,PE-1rconfigrservices>sdpd lsp "To-PE2™
E.PE-1rconfigrsarvices>adps no shutdown
6.PE-1rconfigrserviceradpi exit
7.PE-1rconfigrservicef vprn 100
§.PE-lrconfigrservice>vpen# spoke-sdp 42 creste
9 PE-1>configsservices>vprn>sdps exit
10.PE-1>config>servicesvprnf exit
11.PE-1>configrserviceff exit
12.PE-1>configH roucer ldp shutdown

13 .PE-1>configh exit

On an Alcatel-Lucent 7750 SR. an SDP is configured for a VPRN service using an existing MPLS LSP.
Which of the following about the configuration is TRUE?

A. The configuration is incomplete, as the 'auto-bind' command is missing.

B. The configuration is correct; LDP can be shutdown if there are no Layer 2 services in the network.
C. The configuration is incorrect, as spoke SDP configuration using MPLS LSPs is not supported in a
VPRN service.

D. The configuration is incorrect; Line 8 should be 'spoke-sdp 42 mpls create'.

Answer: B

6.Click the exhibit.

PE3
172.12.20.0/24

AS 64493 é :\ i

CE3

AS 64492 6 ;

CE1

_,.Q AS 64494

172.12.0.0/16 CE2

172.12.10.0/24

PE2-config >service >vorn~ aggregate 172.12.0.0/16 summary-only as-set
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If the displayed command is executed, what is the correct value of AS-Path in the BGP route
172.12.0.0/16 advertised by PE2?

A. 64491 {64492 64493}

B. 64491

C. 64492 64493 64491

D. {64492 64493} 64491

Answer: A

7.Which of the following regarding the Route Distinguisher is FALSE?

A. The Route Distinguisher is an 8-byte value containing 3 fields.

B. The assigned number field contains a number assigned by the service provider.
C. The administrator field contains either an AS number or an IP address.

D. The Route Distinguisher is not used if the customer addresses do not overlap.
Answer: D

8.In a VPRN that uses MPLS transport tunnels, which of the following is NOT configured on the PE
device?

A. MP-BGP for exchanging customer routes with other PEs.

B. A routing protocol for exchanging customer routes with the CE.

C. Alabel signaling protocol for defining transport tunnels between the PE and CE.

D. MPLS for exchanging labels with other provider core devices.

Answer: C

9.Based on the VPRN BGP decision process, which of the following routes is selected first?
A. The route with the shortest AS path.

B. The route with the lowest route or tunnel table cost to the NEXTHOP.

C. The route with the highest local preference.

D. The route with the lowest originator ID or BGP identifier.

Answer: C

10.Which of the following about the maximum number of routes that can be accepted in a VRF for a
VPRN service on the Alcatel-Lucent 7750 SR is FALSE?

A. The Alcatel-Lucent 7750 SR allows the setting of the maximum number of routes that can be accepted
in a VRF for a VPRN service.

B. The “maximum-routes” command is used to specify the maximum number of remote routes that can be
held within a VRF for a VPRN service.

C. When the "maximum-routes" command is used with the "log-only" parameter, new routes are still
learned.

D. Once the "threshold" value is reached, no new routes are added to the VRF.

Answer: D

11.When VPRN Outbound Route Filtering (ORF) is enabled, each PE sends its ORF list to its peer using
which of the following BGP message types?
A. Open
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B. Update

C. Route Refresh
D. Notification
Answer: C

12.How are local CE routes associated with the appropriate VRF at the PE?
A. Based on the interface on which they are received.

B. Based on the Route Distinguisher.

C. Based on the Route Target.

D. Based on the Service ldentifier.

Answer: A

13.Which of the following is not a valid BGP design for a network provider supporting VPRNs?
A. Full mesh of MP-BGP between all P devices

B. Full mesh of MP-BGP between PE devices

C. Route reflector configuration between PE devices

D. Confederation configuration between PE devices

Answer: A

14.A service provider core consists of 6 PE and 4 P routers.

Assuming route reflection is not used, how many internal BGP sessions are required in the service
provider network for a correct operation of VPRN services?

Al

B.5

C.15

D. 30

E. 45

Answer: C

15.Click the exhibit.
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10,10:10.3 10,10,10.4

Tl s

192, Te8 10727 192.168.2,0427

MPBGP eBGP

Provider Core Network
10,190,101 10.10.10.2

*h:PEZE show roucer bgp neighbor 10.10.10.1 received-rowurss wpn-ipwd

RS TS S S e S S S S S S RS T RS S S E TS S S SR S S E S S S S S S S S S S S S S ST S S S R T S E ST TS ST SRS BT
EZP Powuter ID:10.10.10.2 AE:pd458 Local A%:64495

B SRS BRSNS SRS EFERAE NSNS S SREN SEREY EVERES EFENEN SSONEY SNES SNONAN SRRV SRS R N NS Ny AR S SO N SNORS SOV R SRS IR NS NN P
Lagend -

Bcatus codes : W - used, s - surpressed, h - history, d - decaysd, * - walid
Origin codas : 4 = IGP, @ = EGP, 7 = incomplete, > - bast

S S e S S S T S S S S S S S E T S S S S S TR S S S S e S S S S e S S S S S S SR ST E S EEE S EEE e

BGP VFH-IPwd Boutes

SN SRR S SEDYY SRS SYIEFY EFOVE SHEEN SESNP SERES SNAI SRONNY SNORAY SIUND S [NE SRS SRENIN PRININ PSRN PN SO SUSVAY BAVEN ENEVE mAve

Flay MNetwork LocalPref HNED
Hexthop VINLabel
As-Parh

uT>i 64496:1:10.1_3_ 0727 100 Hone
10.10.10.1 131070
No As-Path

uT>? 6£4496:1:-10_10_10.3732 100 Nore
10.10.10.1 131070
No As-Path

u*? 54496:1:-192 168, 1 0727 100 Hone
10.10.10:1 131070
Ho As-Path

Botes @ 3

Which of the following best describes the output?

A. The AS-Path is not present because a policy is configured on PE2 to set it to null.

B. The AS-Path is not present because a policy is configured on CE1 to set it to null.

C. The AS-Path is not present because a policy is configured on PE1 to set it to null.

D. The AS-Path is not present because VPN-IPv4 routes do not propagate the IPv4 AS-Path BGP
attribute.

Answer: C

16.Which of the following about BGP loops in a VPRN environment is FALSE?

A. Traditional BGP loop detection mechanisms may detect a loop in the VPRN scenario, which in fact is
not present.

B. The Alcatel-Lucent 7750 SR accepts routes containing AS_PATH loops by default.

C. When the CLI command "config>router>bgp# loop-detect discard-route" is used, the Alcatel-Lucent
7750 SR sends a natification to the remote peer and drops the BGP session.

D. In VPRN implementations where the CE-PE protocol is BGP, it is possible for separate sites of the
same customer to use the same BGP autonomous system number.

Answer: C

17.Which of the following about the configuration of BGP Site of Origin (SoO) is TRUE?

A. Each PE must implement a policy to apply a unique SoO attribute to the set of routes received from
each customer site.

B. A different BGP extended community is used on each PE that connects to a single site.
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C. An import policy on the PE rejects a route if the attached SoO matches the configured value.
D. Import and export policies are applied on the PEs under the global BGP context.
Answer: A

18.Click the exhibit.

Exhibit Missing

According to the display, a BGP loop is detected for route 192.168.1.0/27.
On which router is this command executed?

A. CEl

B. CE2

C.PE1

D. PE2

Answer: B

19.Click the exhibit.

< Internet

Red VPN \ Red VPN

PES3 learns Internet routes via its VRF interface to the Internet peering router and stores them in its
Internet VRF. CEL1 is connected to the Red VPN and requires Internet access via its Red VRF interface.
Which of the following statements do not fulfill this requirement?

A. PE1 advertises the Red VPN routes and a default route to PE3.

B. The Internet VRF on PE3 imports the Red VPN routes advertised by PE1.

C. PE1 imports all Internet routes and advertises them to CE1 via the Red VRF.

D. PE3 advertises a default route from its Internet VRF instead of advertising all Internet routes.
Answer: A

20.Click the exhibit.
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a
v 10
Branch Site /%119

1025027

0.10.10.1732 10.10.10.2/32

1 2

10.1 2027

10.10.10.4732

community "Blus—-Only" members "target:65100:1"
community "Gresan-Only" membars "target:65100:2"
community "Blue-Green" members "target:65100:3"
community "Extranet-VPN-Elue" members "target:65100:1"™ "target:65100:3"
community "Extranet-VEN-Green" members "target:65100:2" "target:65100:3"

The headquarter sites of VPRN 10 and VPRN 20 are part of an extranet VPRN.
Which route targets should be exported under the VPRN 20 service on router R1?
A. Target:65100:2 and target:65100:3

B. Target:65100:1 and target:65100:2

C. Target:65100:1 and target:65100:3

D. Target:65100:1, target:65100:2 and target:65100:3

Answer: A
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